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QUESTION 1

Which of the following statements makes sense? Select the correct answer. 

A. I discovered the service I was looking for by using WS-Addressing to issue service search queries. 

B. I discovered the service I was looking for by building a WS-BPEL process definition. 

C. I discovered the service I was looking for by searching the UDDI-compliant service registry. 

D. None of these statements make sense. 

Correct Answer: C 

 

QUESTION 2

Services hosted within an enterprise service bus cannot support asynchronous message exchanges due to the
limitations of message routing features built into enterprise service bus implementations. Select the correct answer. 

A. True 

B. False 

Correct Answer: B 

 

QUESTION 3

Which of the following statements is true? Select the correct answer. 

A. WS-ReliableMessaging establishes a framework that provides an industry-standard means of transforming XML
schema-based data models. 

B. WS-ReliableMessaging establishes a framework that provides an industry-standard means of rolling back changes
that occur during a runtime service transaction. 

C. WS-ReliableMessaging establishes a framework that provides an industry-standard means of reliably communicating
policy enforcement rules. 

D. None of these statements are true. 

Correct Answer: D 

 

QUESTION 4

A common, but older alternative to the XML Schema Definition Language is: Select the correct answer. 

A. Hypertext Markup Language 

B. Extensible Markup Language 
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C. Document Type Definitions 

D. XML Data Model Definition Language 

Correct Answer: C 

 

QUESTION 5

A SOAP-based Web service is required to transmit an XML-based invoice document to a REST service. However, the
SOAP-based Web service is designed to represent invoice data using an XML schema that is different from the XML
schema used within the REST service. How can the disparity between the XML schemas, used by these two services,
be overcome so that they can exchange the invoice document? Select the correct answer. 

A. A layer of data format transformation logic needs to be introduced based on mashup technologies, such as DTD and
WS-Transform. 

B. A layer of protocol transformation logic needs to be introduced based on Web technologies, such as HTTP and FTP. 

C. A layer of data model transformation logic needs to be introduced, based on XML technologies, such as XSLT. 

D. There is no technique or technology for overcoming differences between XML schemas. 

Correct Answer: C 
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